W EEAE R

421381231920310000103—

TRIH AR IR 2% T B AR 42138123192T000000101 — 2 I H wtd 1 B 5 4
— I H 44K J5 B ORRE R 5% SCHIH 25 B1-AG S H T H 15 H R
I H 2 HE AR 01-H AE 1 H oiH J& 1 01— HF £ LT H FE= 12— AH} i
e 192—ﬁ7k;g 1 I B b 192001_}%7J;:Z+Mjﬂ A b MOOO1— 4 5 X
T H 464 2023 T H SRR 54 S Tr = 1-PR &K%
T H A HRAEHR T 1920014 B 3 55 Bt TR AT H &
G RHITIH o e B & FEIL
Lé&%ﬁéiﬁlﬁ %Eﬁ%ﬁg tié){é%%%z = Iy o
Ui WNGER T 07226300295 HIS i 432700 FRLA bk J KT A B2
ARG VP o T 1 T B & e i 55 2RI H &
e T E AR & e T AR SR v T H S A 71000
15 A Sk 4 FR A AT AR 224, WS AT S50 Sl BERATS
ER 32 PRI BT AT HR TR SG IR, AnAp s R AR . BR L2252 (1 T Am ) 4
T H St 7 % TR, Taimahss
— R ST

TSR N5




I E M=

N i HAE% R B X /1 IR N = & =0 % . "
4 = o = = T 2 M H
F YR AR B 41 AR UE G R TFEE G G T EAK = A2 15 B
MO0001-F & X 71000
. e | e | 31000 ! 31000 ﬁﬁ%ﬂ%&%ﬂﬁ%kﬁ%ﬁ&%ﬁﬁ@,%
e TE IR T, HELE%%, HALUHET
2 T2 | iR 40000 1 40000 T —8EWK T2 5), 832351 &My LT

72 il EA B % T2 o B B SR R ) 55




R B SCH T RIR

FIE HRE (o) s O
71000 0
2023 71000 0




IS H b

LG b

G E AR

PREUV B ER TR, b B ARG . BR D52 1 LA A5




IS8 Eiztian

EIGFE: 2023

FURIEIRR

2 LA 2023

<o S N <o S £ 2y <o S
FE FEAR AR RIEHRRRE | FEHOhRE | R | s e *E'*’TH‘);M *Hﬁ*’?ﬁgﬁ éﬂ;g;*’ﬁ
1 JRaasE =L
Hta e
TR T A N IR 31 31 = 31 NN THRIbRUE
G IREL 2 2 > 2 w TR
R bR
Iwﬁ xR 95 95 = 95 % PRI bR A
SIS 95 95 = 95 % TR bR
B 24
56 T [E] 12 H /i 12 H #if JE T 12 H /i
JRAFE bR
iktij\ 31000 31000 < 31000 Jt TR bR
LR G B 40000 40000 < 40000 It TR bR
2 xﬁ( TEIELY
225 30t TR b
S FR bR
I%’ Uﬁ_)/% Eﬁﬂﬂ%ﬁ Eﬁﬂﬂ%ﬁ E@ Hﬂjﬂ%% TRl bRt
I EOMERE B S 3R B SR e SR THRIbRTE
AR bR
DIESRe AL
3 Wi TR bR
W TR bR
P50 0 = 95 95 = 95 % TR e




FURIEIRR

S SUSTR I
= S ) = S = N N S
s fibi 45 Nt AR | S | st | b |RELR HIEE T SO
1 JRaasE =L
KR Aahs
TR T A N IR 31 31 = 31 NIK TH R E
G IREL 2 2 = 2 w bR
Ji AR b
AR e S 95 95 = 95 % THRI bR
SIS 95 95 = 95 % HRIbRvE
i RAE b
56 T [E] 12 H /i 125 A JE T 12 H /i
JEASFE AR
iﬁtﬁ%ﬁ 31000 31000 < 31000 I THRI bR
LGB 3 40000 40000 < 40000 I THRI bRk
2 xﬁ( TEIELY
2GR R bR
2 R A FE AR
TR T 5 Ol R I 3 5 3 EVE 5 3 PRI HE
I O RE B 5 %ﬂ%* & %mT*‘ PRI e
AR bR
A FRER A FE bR
3 T = A
T = A
P50 0 = 95 95 = 95 % TRl iE




